BAE 421 Building Construction Engineering
(1) What are the types of doors & windows
(2)  Outline the followings

· Types of buildings

· Types of trusses

(3)  Indicate the components of the given building diagram              
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(4) Based on the following plan, develop the front & side views of the building.
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(5) What are the components of culvert & bridge diagrams?
(6) What are the components of building diagrams?

(7) Summarise the mixed design process.
(8) Design the following building
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Type I non-air-entrained cement will be used and its specific gravity is

assumed to be 3.15. Coarse and fine aggregates are of satisfactory quality and are
graded within limits of generally accepted specifications. The coarse aggregate
has a bulk (solid) specific gravity (oven-dry condition) of 2.68 and an absorption
capacity of 0.5 percent. The fine aggregate has a bulk specific gravity (oven-dry
condition) of 2.64, an absorption capacity of 0.7 percent and fineness modulus of
2.8. Total moisture contents of coarse agg. and fine agg. are 2% and 6%
respectively, based on oven-dry wt. Concrete is required for the building columns
which will not be exposed to severe exposure conditions. An average 28-day
compressive strength (cylinder) of 3500 psi is required. It is decided that a slump
of 3 %2 in. should be used. The economically available coarse aggregate (wet)
with maximum size of 1 ' in. will be used. The dry-rodded (oven-dry) weight of
coarse aggregate is found to be 100 Ib/ft’. Assume that during the laboratory trial
batch for 0.03 yd3 concrete volume, 7 Ib of water is added and a slump of 2 in. is
obtained, and unit wt. of concrete is 149 Ib/ft’.

Find the quantities of ingredients (Ib per cubic yard of fresh concrete) by

ACI Method. Make necessary adjustments for water contents of aggregates.




(9) What is ACI 211.1?

     (10) Explain choice of slump
